
Hauptspeicherbelegung in arrayvar.c (Folie 2-31) 
 

 : 
 : 

&a = a = &a[0] = 0x7ffcc8a9c3c0 5d 
............c1 0d 
............c2 00 
............c3 00 

a + 1 = &a[1] = 0x7ffcc8a9c3c4 72 
............c5 0d 
............c6 00 
............c7 00 

a + 2 = &a[2] = 0x7ffcc8a9c3c8 33 
............c9 0e 
............ca 00 
............cb 00 

a + 3 = &a[2] = 0x7ffcc8a9c3cc e6 
............cd 0e 
............ce 00 
............cf 00 

&a + 1 =............d0 : 
 : 

 
342110 = d5d16 
344210 = d7216 
363510 = e3316 
381410 = ee616 

 

a[0] bzw. *(a + 0) 

a[3] bzw. *(a + 3) 

a[2] bzw. *(a + 2) 

a[1] bzw. *(a + 1) 


